F12HABEXF Y XYy I—KEXNBER

[FESDO Y FQIBLRER (10x5x10) ]
OMKEEBEAI—F (&) I

O X LZEBa— bk (F)

(B KAFC)
K7 |3 BSAD— O RS 2
BE 2 BRAI— O3 - RT3 —A#H
B £ @ m5E+B ' hAEE B @ — A
I
. ©) @
= a @ I = b
hHEA ® X A ! Z ) ® mAE+ A
| |
FREA 2 BHEBaI—FB® 7 - SHIRTEE 3 @B
mAE+B 0 HEBaO—+F®5 - 6 LRTEE 0 mE+A

( 2PKO )

® (aJ/)L—TxER)
kG A I — bk (F)

® (b5 IL—Txtik)
BaiEBa— b (F)

No |5t & B R XTERF — L z H No [Ef & FF i XTEEF — L = ¥
M12:00~ | £ 0vs2 mr+e|lXk A D12 : 00~ |wwme 0 vs 9 —&#|ms+a
@12 :30~ |esma Ovs 6 Xk AlE = @1[12:30~ |Z I 5 vs 2 mp+a|sosms
@[13:20~ |8 £ 2vs 1 wimalms+s @[13: 20~ |wwms 0 vs 14 & JiIl|—&#H
@[13:50~ |[X 5 6 Vs 2 mp+e|snma @[13:50~ [—&#m 3 vs4 mptalE I
B®l14:30~ |8 & 2vs3 —AW|KX & ®[14: 30~ |wxma 2 vs 3 wmme|k B
®[15:00~ |x B 3vs2 & JlXx & ®[15: 00~ |mws+s O vs 0 mr+a|X B
( 2PKO )
OFEVIVERSK BBKXATI—F)
=  REEES A+ B X Vil FHEA |BR |88 X8 |8XE |EfR
B E @ 0-2 O] 2-1 3 2 3 -1 2
mE+B |Of 2-0 @ 2-6 3 4 6 -2 3
N Vil O] 6-2 O] 6-0 6 12 2 10] 1
A @] 1-2 @®| 0-6 0 1 8 -1 4
OFEYVIVERSK BFXBI—F)
° F i B — Al A+ A = BR |FR AR |BXE |IEf
F B @®| 0-9 @®| 0-14 0 0 23 -23| 4
— AR O] 9-0 @®| 3-4 3 12 4 8| 2
mAE+A O] 4-3 @®| 2-5 3 6 8 -2 3
= JIl 10| 14-0 O] 5-2 6 19 2 17] 1




